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vreat # forfay |
VII. ISR 28 YE@Med g9 & |
Instruction :
I.  All questions are compulsory.
Il.  Internal options are given in question number 6 to 23.
lll.  Question number 1 to 5 are 32 objective types questions. Each objective
question carries 1 marks. [32 X 1 = 32]
IV. Question numbers 6 to 15 each carries 2 marks. Answer these questions
approximately in 30 words each.
V. Question numbers 16 to 19 each carries 3 marks. Answer these questions
approximately in 75 words each.
VI.  Question numbers 20 to 23 each carries 4 marks. Answer these questions

VII.

approximately in 120 words each.
Draw neat and labelled diagrams whenever necessary.
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|E fadbeu &1 gfu— 1X6=6

i. #9319 T @ # grer g

a. Tt > 9= b. it < ywrae
C. YRRl = Y d. oifedt X e
i. RBI @R Age o, oAl fhd @i H aier e
a. al b. @
C. IR d. o=
iii.  ATSTARTT YA BT Hed—
a. ygIerd feraer b. Femef faer
C. UcATRIT ST d.remef SUHIRT
iv. dmfa g=d ugiy (MPS) &1 93 28—
a. 2—5 b. i—i
C. % d. é
v. SR JF HT G99 weayel FeRe 8-
a. FFaa 3y b. A&l I
C. BNS] 3 d. fa<=h ama
vi. 9 3 @ ufd saE 99a 3—
a. APS b. MPS
c. MPC d. APC

Choose and write the correct alternative :

i.  Which of the following is current account deficit:

a. Receipts > Payments b. Receipts < Payments
c. Receipts = pPayments d. Receipts X Payments

ii. The transaction of balance of payment are divided in how many accounts by

RBI :
a. Two b. Three
c. Four d. Five
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iii. The value of planned consumption:
a. Ex ante investment b. Ex post investment

c. Ex ante consumption d. Ex post consumption

iv. Formula of marginal propensity to save (MPS) is :

AC AS
a. — b. —
AY AY
c s
c. = d. 2
Y Y

v. The most important determinant of consumption demand is:
a. Netincome b. Gross income
c. Household income d. Foreignincome

vi. From the following the saving per unitis :

a. APS b. MPS
c. MPC d. APC

Raa vt @1 gft aIfsg—

i, SN a6 BT STA.co BT & |

ii. Gt SR F IRIIT B HEd ¢ |

iii. SETET Bl ANTAN TG oo H Hdeg g 2 |

iV. el AR = o X AT

v. gof Ufifrar 3 &H &1 AR G Il & |

Vi. gy = 22X 2 o et gl @) ol 2

Fill in the blanks.

i. Slope of indifference curve is...................

f cveeereereeenreenns is the change in total utility.

iii. Production function is a relationship between input and ..............
iv. Total cost = .............X Quantity

v. Demand curve in the perfect competition is ......cccoeeuveueee.

20 800

vi. Elasticity of supply is.............. in the equation e; = 30 % 300
3
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|/ 3raey forag — 1x6=6

i, SdET B Ul Shrg Bl Hol ReR AN BI AT N bed ¢ |

ii. o9 AHEid oM I Bl 8 9 ol drTd g gl |

iii. Ufcf a6 &7 BTl FeoHS BT B |

iv. # g% & il AR Roe 8 R 9] B DT HH B & |

V. WRGR gRT 6l a%g a1 qar @l Szaad MuiRa #Wa &1 @bd ad w8l ST 2 |
Vi. #H BT HHEd FIE ITe = HHEid T X 58 BT HHEd Scdlg

Write True / False :

i. Total fixed cost per unit of output is called Average Cost.

ii. When marginal cost is zero then Total Cost will be minimum.

iii. Slope of supply curve is downward.

iv. Price of a good goes down when Demand curve is shifted leftward.

v. The government imposed upper limit on the price of a good or service is called
price floor.

vi. Marginal Revenue Product;y = Marginal Cost X Marginal Product i,

HET SISl A5y~ 1x7=7

i. NEZS NG ISl - a. GDP — 77 '™
ii. Pl MY AT - b. NDP + 7u g
iii. Y e SWR - C. Hhel Fde — o7 g
iv. g e - d. GDP + NFIA
V. e - e. XISTHINY =1l — g Aol il
vi. RSN Eer - f. ga1 & qou °
vii.  uaf@e grer — g g Y — (Ior@ et + IR ko1 9 ghora

ESIERURRY
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Vi.

Vii.

Match the correct column:

Vi.

Vii.

Gross Domestic Product - GDP — Deprecation

Gross National Product - NDP + Deprecation

Net Domestic Product - Gross Investment — Deprecation

Net Investment - GDP + NFIA

Devaluation - Fiscal Deficit — Net Interest Labilities
Fiscal Deficit - less value of currency

Primary Deficit - Total expenditure — (Revenue receipts +

Non-debt creating capital receipts)
T g H IR foalRag— 1x7=7

JIYH HTShT e BT TART HR dTel I B 27

AR IRTA BT Y 1 T 872

I T HIHT 6 THR B Gy 57

fel STAIATAT 57d Rer BIefl & q9 WHid SuAIar i |
faferrr v @1 feiRor a1 &1 HiF A1 Bl 87
9% TR # R P B FHdl & 7

oG 11 HT g forfag |

Write the answers in one sentence each:

Vi.

Vii.

Which economist used Micro word first time.

ii. What is another name of opportunity cost?

. Tea and Coffee are which type of goods?

When total utility is constant then marginal utility will be?
Which type of function of money is exchange?
Who can change the Bank Rate ?

Write the formula of Revenue Deficit.
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10.

BaI roTTag AfeTaRelT BT 37 el |
Write the meaning of central planned economy.
31erar / Or
IR SreferaRer & 31l forfay |
Write the meaning of market economy.
IWIIREAT B & g3 faRkay |
Write the formula of Consumption Function.
3ferar / Or
it awgali @1 312 U9 @ig qT Sarexvl foaRay |
Write the meaning and any two example of gifin Goods?
IUARAT & TUFETES [I2eryor &7 3fef FHsg |
Explain the cardinal approach of utility.
31erar / Or
IUARAT & HHdTad [Ieeryor &7 3ref FHsIE |
Explain the ordinal approach of utility.
U & gfahel ol dfer H forfRey |
Write in short Return of scale.
3ferar / Or
g rgurdl &1 a9 @ 27 forfeay |
What is the Law of variable production? Write.
AR oNTa T 31ef I<TeRvr wfed faRay |
Write the meaning of Opportunity Cost with an example.

3ferar / Or
6
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1.

12.

13.

14.

Ha YT ® 27 fafay |
What is price line? Write.
fAf3ra sreferasen @ o 1 faRvday forfeay |

Write any two features of mixed economy.

3ferar / Or

Ffte JIRF Ug HHfSE 1 JIF H dis gl faR forlRay |

Write any two differences between Micro Economics and Macro Economics.

o fama gomel @1 Big a1 BT Iy |
Write any two limitations of barter system.
31erar / Or
T & BIg a1 1 faRag |
Write any two functions of Money.
H&T B AT & PIg &l HRUT ARy |
Write any two causes of demand of money.
31erar / Or
ATIHTRID bl & DIg al B fIRAT |
Write any two functions of commercial bank.
gfe APS &1 |9 0.75 © dF APC &T d19 STd BN |
If the value of MPS is 0.75 then find the value of MPC.
31erar / Or
gfe MPC &7 A1 0.4 & A MPS &T A1 1 HIfTT |

If the value of MPC is 0.4 then find the value of MPS.
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15.

16.

17.

18.

Ifg MPC &1 #1 0.2 & @1 TV &1 A9 91 BT |
If the value of MPC is 0.2 then find the value of multiplier.
3ferar / Or
Ife MPS &1 919 05 & dI [0 &1 A9 S1d DIy |
If the value of MPS is 0.5 then find the value of multiplier.
AN TS @t A fIRay |
Write the measures of Government Deficit.

3ferar / Or
RGN qolc B DIy O Iga3g foafay |

Write any three objectives of Government budget.

T T U ¥ Py < 3faR oIy |

Write any three differences between devaluation and depreciation.

31erar / Or

Rer faf g gr vd foraY fafowa <) & #ig 09 sfar forRau |

Write any three differences between Fixed exchange rate and Flexible exchange

rate.
IR IR T WIFU a3l & FRAT HITTY |
Explain complementary goods and substitution goods.

31erar / Or

qUITRIT ArEGR AT U9 Yoiaan JeleaR AT &l FHsisy |

Explain perfect elastic of demand and perfect inelastic of demand.

8
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19.

20.

A9 <fifoTe f&5 Arfers & w7 ok gftt aw 39 yeR fRar ma @ 3
q® = 1000 —p
q5 =700+ 2p

HIAT BT ST BITC |

Suppose the demand and supply curve of match box are given by:

q® = 1000 —p
g5 =700+ 2p
Find the equilibrium price.
3ferar / Or

A Y 6 tap goi gfoRuedl aTaTR o o= 1 ART 921 Yfdd @b 1 U AU T &

q? =700 —7p
g5 =500+ 3p
9 I @ forg AJe A R’ ER |

Suppose the demand and supply curve of commodity x in a Perfect competitive
market is given by:

q? =700 —7p
q5 =500+ 3p

What will be the equilibrium quantity for this commodity?
A Ih B Pl IR faRrvany forRay | 4
Write any four features of Indifference curve.

31erar / Or
ITAIRTAT &7 IS 4 faQrwan forRay |

Write any four features of Utility.
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21.

fefeRad diferer, 21 @1 ol ScdTa RGE! adl € | dag®y 2 &l fEd Sdre Uq
NILIGESKICEC G CINECAI I 4
The following table gives the total product schedule of labor. Find the

corresponding average product and marginal product schedules of labor.

L TP,
0 0

1 15
2 35
3 50
4 48
5 40

31erar / Or

ffoRad aferar, s/ @1 iad e SRl <l 8 | d<I%Y 5 & Gl SAIE U4

AHid IUTE gl Feprfery | g o Mm 8 b 5/ & g ISR WR R Rl Scia
A T
The following table gives the average product schedule of labour. Find total

product and marginal product schedule. It is given that the total product is zero

at zero level of labour employment.

L AP,
1 2
2 3
3 4
4 4.5
5 4
6 3.5
10
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22. fa=faRaa sfiwsl & oma A gRT &7 I 3 @Y I0ET difTg:

Vi.
Vii.
Viii.

iX.

HHARAT BT ARG
SICIN]

JAfIaRd &
R o™ @R

SRIE|

RIS

A sma

facel 9 i g | oy

1 &

8000

200

1000

500

1500

1200

300

— 500

700

(@ w. H)

From the following data, calculate National Income by Income Method.

VII.
VIIIL.

Remunation of Employee
Dividends

Undistributed profit

Corporate profit tax

Rent

Interest

Mixed Income

Net factor income from abroad

Depreciation

11
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8000
200
1000
500
1500
1200
300
- 500
700
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3rerdar / Or

fReforiad sifeel @ e 8 &1 TUET BIRTE:

(@ w. H)
i.  BRE AN W I A 850
ii.  dOR $Hd IR Hehel 8] ST 1100
iii. facer & ura Fed SRS 3 100
iv. g 3uge X 150

From the following data, calculate the depreciation.

(In crore)
I. National income at factor cost 850
Il.  Gross domestic product at market price 1100
[IIl.  Net factor income from abroad 100
IV. Netindirect tax 150
23, YU b1 fAfd &1 Hreuld IaTeRO gRT HHESY | 4

Explain the Multiplier Mechanism with an example.

AT

S W e 3R ST &7 (A) 50 HRIS . 81 R HAHid g9d giy (MPS) 0.2 eI
I (Y) T TR 4000 PRIS 5. B Al GATRIG FAKT AT A B |

Measure the level of ex-ante aggregate demand when autonomous investment
and consumption expenditure (A) is Rs. 50 crores and MPS is 0.2 and level of

income (Y) is Rs. 4000 crores.
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